PWH100 £%1/PWH100 Series

(FEfmi4H note) :
H: 8 (E R —XK) \
o _ FEAR(EE—X)
FE i s EEERK fisth Fluid volume for .
) ) ) Consumption for cycle
Code No. Piston Diameter| Ratio cycle
(L/cycle)
(cc./cycle)
PWH100011 @100 11 70 4.17
PWH100024 @100 24 30 4.40
PWH2100038 @100 38 20 4.47
PWH100006-U @100 6 62 4.22
PWH100016-U @100 16 24 4.44
PWH100025-U @100 25 15 4.50
PWH100038-U @100 38 10 4,53
PWH100012-UD @100 12 62 8.12
SNBIR~F Dimensional Features(Efiz:mm)
PWH100U-U &%
i 92 [P Port]
PF 3/8"
[ T R | ?60—
o o
528 o (D) o D
@—— O
!
1 I I m D]:ﬂ |
' l 1 (11) 55 147 20_|

PWH100UD %51

[IN Port]
PF 3/8"
[OUT Port ]
PF 3/8"

2-M8x1.25P-15L—

233



http://www.deter.com.tw/picture/zh/product/PWH100U_P_KA01.jpg

92

i
8
o~
§ ° =
8 T O
| S
[IN Port]—
PF 3/8"
[OUT Port]—
PF 3/8"
2-M8x1.25P-15L
PWH100 %51

(137)

@60

66

[P Port]
PF 3/8"

——— | ©

oD

————1 O

20

317

[Pd Port] -

[Ph Port] -

©
©
©
—F— [
148.5
2545

~[Ps Port]

4-M10x1.5P

PW150005TE/PW150008TE/PW150009E/PW150014E/PW150015TE/PW150025E(EERERRRE

#)



http://www.deter.com.tw/picture/zh/product/PWH100UD_P_KA01.jpg
http://www.deter.com.tw/picture/zh/product/PWH100_P_JC01.jpg

100

15.5

[PH] port

[PS] port

PT-3/8" E PT-3/8"
— | em
L— %
” ”
..
o /8 | H O
B
I
= [ —= ]
4-M10x1.5P
l‘ I 1 e
R > —
o ) &1 !
=) ¥ o
©) S
o o !
b
{ !
!
[ 447 - 155
478

[PD] port
PT-3/8"

193
170 ’.

4-M10x1.5P
(815E7L)


http://www.deter.com.tw/picture/zh/product/1114PW150008E_b.jpg

